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1-6) Match the following graphs with their slopes.
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(7-3) Find the 5!05& each line that passes through the points. Identify the type of line.
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10) Find the missing coordinate: If the slope of TV i ndT = (x andV = (6,), what is the
value of x? 4
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(11-12) Use slopes to determine whether the lines are parallel or perpendicular to each other.
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13) If the slope of one line is 2 and the slope of another line is V2, are the lines parallel, perpendicular,
or neither. Explain your answer choice. The, 2 2ines are Y\&l‘\’he” 'Pzralla\ nor 1. be
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